

Washington Police Department



115 WEST JEFFERSON STREET WASHINGTON, ILLINOIS 61571 NON-EMERGENCY (309) 444-2313 FAX (309) 444-7511

TO:

Mayor Manier and Washington City Council

FROM:

Michael D. McCoy

DATE:

December 20, 2018

SUBJECT:

Emergency Lighting for Motorcycles

As previous reported to Council, the two motorcycles have been delivered and paperwork will be completed within the next two weeks with Walters Brothers. These cycles were ordered without safety lights and sirens.

In consultation with other local police agencies, that have motorcycles, we determined what the minimum safety lighting would be. We then solicited bids from three corporations. Bids were received from Ray O'Herron of Decatur, Ill., Fleet Safety of Greensboro, NC., and Strobes and More from Westerly, RI..

Strobes and More submitted the lowest responsible bid of \$6,794.44 for both motorcycles.

Seeking Consent Agenda approval for the purchase, which is covered in the Washington Police Department budget.

Attached is a Memo from Officer Cernek outlining the procedure.



To: Chief Michael D. McCoy From: Officer J. Cernek #401 Date: December 19th, 2018

Subject: Request for lighting/siren systems for the Motorcycle Unit

The purpose of this memorandum is to request the purchase of lights and sirens for the Washington Police Motorcycle Unit. The two motorcycles we have do not come preequipped with lights or sirens but are manufactured specifically for Law Enforcement in order to accept a variety of lighting packages. I have attached three different quotes for the items which I deem to be the minimum necessary for safe operation of the motorcycles on-duty. Each quote has two tour packs (including built in lighting package), siren systems, front windshield arrays, and additionally the minimum amount of accessories needed to make each function properly. I have sought out multiple purchasing options and attempted to reduce cost on these as much as practical. I sought out advice from already existing motor officers from Tazewell County agencies and have enlisted the help of an East Peoria Motor Officer, to help install the systems (reducing cost substantially), if approved. I propose we use Strobes N' More for any future purchasing, upon approval. The Strobes N' More's representative went above and beyond to provide the greatest cost reducing input and systems, while maintaining the quality needed. If purchase is approved, these systems would be able to be transferred from our Harley Police Motorcycles to future Harley Police Motorcycles (upon end of lease term). Harley has done an excellent job of making these systems transferrable and this contributes to the long term benefits of the Motorcycle Unit in general. Thank you for your consideration of the Motor Unit lighting and siren systems.



81 Tom Harvey Rd. Westerly, RI 02891 Ph: 401-348-0141 Fax: 401-596-6596

Washington Police Dept.

Jacob Cernek 115 W Jefferson St. Washington, IL 61571 InvoiceID 247606 12/13/2018

Payment Type

Quote

Terms	Email	Sales Person	ShipVia
Quote	jcernek@ci.washington.il.us	James	Ground

Descriptic	Quantity	Price	mount
*WHELEN M4B6R	2	\$2054.38	\$4108.76
*WHELEN MBADPT14	2	\$65.49	\$130.98
*WHELEN SA350MH	2	\$410.05	\$820.10
*WHELEN SA350MB1	2	\$58.41	\$116.82
*WHELEN WS321	2	\$356.36	\$712.72
*WHELEN M08T R/B ALTERNATING	2	\$452.53	\$905.06
			\$0.00
*MADE TO ORDER (NO RETURNS)			\$0.00
	*WHELEN M4B6R *WHELEN MBADPT14 *WHELEN SA350MH *WHELEN SA350MB1 *WHELEN WS321 *WHELEN M08T R/B ALTERNATING	*WHELEN M4B6R 2 *WHELEN MBADPT14 2 *WHELEN SA350MH 2 *WHELEN SA350MB1 2 *WHELEN WS321 2 *WHELEN M08T R/B ALTERNATING 2	*WHELEN M4B6R 2 \$2054.38 *WHELEN MBADPT14 2 \$65.49 *WHELEN SA350MH 2 \$410.05 *WHELEN SA350MB1 2 \$58.41 *WHELEN WS321 2 \$356.36 *WHELEN M08T R/B ALTERNATING 2 \$452.53

Thank you for your order

Our products are intended for a wide variety of uses, from Public Safety, Construction, to Show Car use. Proper use of any product sold by Strobes N' More is solely the responsibility of the end user and/or purchaser. Your state may require special licenses or permits to operate certain types of products and it is again the responsibility of the end user or purchaser to make sure all State and local laws are followed. Please check with your local Government or local Law Enforcement agency prior to using any of our products.

We will not be responsible for the end use or any of our products.

Subtotal	\$6,794.44
Discount	
Tax	\$0.00
Shipping	\$0.00
Labor	
AmountPaid	
Amount Due	\$6794.44

RETURNS & EXCHANGES

ANY PRODUCT THAT HAS BEEN INSTALLED OR USED IN ANY WAY WILL NOT BE ACCEPTED FOR RETURN.

All returns/exchanges must be within 10 days upon receipt and must be in the exact same condition as received.

All returns will be charged a 20% restocking fee less Shipping. Special orders are not subject to return. You must email Returns@strobesnmore.com for full Return & Exchange instructions. Any item shipped back without an authorization code will be returned to the sender and shipping charged. Exchanges if within the 10 day return period will not be charged any fees. Any item shipped to Strobes N' More must be packaged appropriately.

MISSING OR DAMAGED ITEMS MUST BE REPORTED TO US WITHIN 24 HOURS OF RECIEPT.



Sales Quote

DANA SAFETY SUPPLY, INC 4809 KOGER BLVD **GREENSBORO, NC 27407**

Telephone: 800-845-0405

Sales Quote No.	269654
Customer No.	MISC

Bill To	Ship To
DIR 10	Smp 10

Contact: Telephone:

Contact: Telephone:

E-mail:

E-mail:

Quote Date	S	Ship V	ia F.O.B.	Customer PO Number	r Payment Method	
12/14/18	GROUND		ND FOB DESTINATION		N	ET 30
Entered By		Salesperson	Ordered By	Resale Number		
	Ben Irvan		Ben Irvan - Memphis			
Order Quantity	Approve Quantity	Tax	Item Number / Descr	ription	Unit Price	Extended Price
2	2	Y	M4B6R WEC HD MOTORCYCLE BOX WITH Warehouse: DROF BOX IN THIS PACKAGE IS BLACK AND OPEN CURB SIDE (RIGHT), INCLUDES 6 M4 LIGHT I WITH CHROME FLANGES. STATE COLOR OF & LENSES: 4-SIDE LEDS - 2-REAR LEDS - WHITE BOX IS AVAILABLE AT ADDITIONAL (USE 11-386340-R11& 11-284290-R01 FOR WHIT	COST	2,050.0000	4,100.00
2	2	Y	MBADPT14 WEC MB4/6 ADAPTER PLATE FOR 2 Warehouse: DROP ADAPTS MOTORCYCLE BOX TO 2014 H-D PO	66.6000	133.20	
2	2	Y	SA350MH WEC 100 WATT SIREN SPEAKER FOR WIRING Warehouse: DROP		417.0000	834.00

Print Date	
Print Time	
Page No.	1

Printed By: Ben Irvan



DANA SAFETY SUPPLY, INC 4809 KOGER BLVD GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Quote

Sales Quote No.	269654
Customer No.	MISC

Bill To	Ship To

Contact:

Telephone:

È-mail:

Contact:

Telephone:

E-mail:

Quote Date	S S	hip V	ia	F.O.B.	Customer PO Nui	mber .	Payme	nt Method
12/14/18			FOB DESTINATION			NET 30		
Entered By		Salesperson	Ordered By		Resal	e Number		
	Ben Irvan			Ben Irvan - Memphis				
Order Quantity	Approve Quantity	Tax	175	Item Number / Des	cription		Unit Price	Extended Price
2	2	Y	SA350MB1 WEC SPEAKER BRACKET FOR 14' ROAD KING Warehouse: DROP				59.4000	118.80
2	2	Y	WS321 WEC 100 HARNES	0 WATT SIREN FOR HARLI SS Warehouse: DRO		+	362.4000	724.80
2	2	Y	M08T ION-T W	/INDSHIELD ELECTRA-GL Warehouse: DRO			460.0000	920.00
			Ap	proved By:	Items & Quantities			
				Ouote Good for 30				
			·					

Print Date	12/14/18
Print Time	10:16:53 AM
Page No.	2

Printed By: Ben Irvan

Subtotal	6,830.80
Freight	0.00
Order Total	6,830.80



Quotation/Order Form

Sales Rep. Dan Yara E-Mail dpyara@comcast.net
Cell 708-710-3396 FX 708-532-5714

Quotation # 1218
Expiration Date: 12/31/2018

Attn: Jacob Cernek

Washington Police

Phone 602-999-4936

115 W. Jefferson Vashington, IL 61571

Employee Name:

E-mail icernek@ci.washington.il.us		Washington, IL 61571	P.O. Number			
VENDER NUMBER	ORDER QUANTITY	ITEM DESCRIPTION	ITEM SIZE	MFG.	UNIT	TOTAL
		Whelen Motorcycle Equipment				
		2019 Harley Electra Glide				
M4B6R	2	Tour Pack (Curb Side Opening)		WHELEN	\$ 2,589.00	\$ 5,178.0
MBADPT14	2	Adaptor Plate for above Tour Pack	655 Valid	WHELEN	\$ 82.00	\$ 164.0
SA350MH	2	Siren Speaker		WHELEN	\$ 520.00	\$ 1,040.0
SA350MB1	2	Siren Speaker Bracket	AGESTI DE M	WHELEN	\$ 73.00	\$ 1,040.0
WS321	2	Wire Harness for Siren		WHELEN	\$ 450.00	\$ 900.0
M08T	2	Windshield Array Red/Blue Light		WHELEN	\$ 575.00	\$ 1,150.0
MTLI*	10	Lights for above Light (5 per bike)		WHELEN	INC.	7 1,130.0
					Total	\$ 8,578.0
					Total	7 0,376.0
		Comment Section				
epared By: I	1					
-	resentative -710-3396					
	08-532-5712					
Fax #708	-532-5714	Price does not include shipping				



Washington Police Department



115 WEST JEFFERSON STREET WASHINGTON, ILLINOIS 61571 NON-EMERGENCY (309) 444-2313 FAX (309) 444-7511

TO:

Mayor Manier and Washington City Council

FROM:

Michael D. McCoy

DATE:

December 20, 2018

SUBJECT:

Emergency Lighting for Motorcycles

As previous reported to Council, the two motorcycles have been delivered and paperwork will be completed within the next two weeks with Walters Brothers. These cycles were ordered without safety lights and sirens.

In consultation with other local police agencies, that have motorcycles, we determined what the minimum safety lighting would be. We then solicited bids from three corporations. Bids were received from Ray O'Herron of Decatur, Ill., Fleet Safety of Greensboro, NC., and Strobes and More from Westerly, RI..

Strobes and More submitted the lowest responsible bid of \$6,794.44 for both motorcycles.

Seeking Consent Agenda approval for the purchase, which is covered in the Washington Police Department budget.

Attached is a Memo from Officer Cernek outlining the procedure.